toa =15 ARTINK,  pop = ¥, +RTINX, g5 = p* 5 +RT IN X,

Hag = H* 55 +RT INXg Mg =g = 15
H¥op = ¥ 55 = 1%, Xin = M /(Ma+ 1)
Xon = Moaf(Maton)  Xg =M /(Mg +1hg) X5 =My /(Mg +15)
A B
Mo Mao(=0)  Migo(=0) Mo
A B

G =nyu™ i+ Nptt* g
= Mot ™y Mgt ™
G =nuy+Mu, =n, (¥ +RTINX,) +n,, (1,4 +RTINX,,)
N (15 +RTINXG ) +Nyg (%55 +RTINX,5 ) =N u* 0, RT INX, + Ny 0%, +1,,RT INX,
+Nu* AN RT INXg +npu*, +n,RT IN X,

M+ Mg =Ny Ny p +Nyg =Ny

AG=G -G =n,RTInx,+n,RTInX,, +n RTInXx; +n RTInx,,
= RT(nlAlnX1A+n2AInX2A+nlB|n>(18+n28|nxzs)

9
3 aA+bB  cC+dD —dn,/a=-dng/b

=dn./c =dn,/d =d¢ —An,/a=—-Ang/b=An./c=An,/d =¢&



A M, a ANy, An,,
_AnlA/( nle - nlBO)
= _AnZA/( Myp0 — nzso) AnzA = {(non —Nygg )/( Mo — nlBO)} AnlA = _(nZBO/nlAO)AnlA

An,+An; =0 Ang =-An, An,,+An,; =0 An,, =—An,,
= (nZBO/nlAO)AnlA

Mo =Mpo TAN, My =Ny +AN,, = Ay,
=—(Mgo/Mpo) ANy Mg =My + AN =ANg =—AN,  Nyg =Nygy+ AN,
=Moo+ (Nogo/Miao ) AN M + Ny = Mg+ AN, = (Nago /Mipg ) AN,
=Myt {(nmo —Mygo )/nlAO} ANy, g+ N = AN, 4 g+ (Mo /Mypg ) AN,
= Ny = {(Mao — Moo )/ Miao } AT,

X = nZBO/nlAO Y= (nle - nZBO)/nlAO
Ma=Mpo t AN, M ==XAn,  Ng=-An, Ny =+ XAn,
M+ =N+ YA, Mg +Nyg = Nyge —YAN,,

Xin = Nia/(Ma+1o0) = (Mipo + AN ) /(Mpg FYANL, ) %, = /(s +1,)
=(=XAn, )/ (Mo +YANL,) X =Ny /(Mg +Nyg) = (~AN,) /(Mg — YAN,, )
X5 = Nyg /(Mg + Ny ) = (Nygo + XAN, ) /(Moo — YAN,)

Any,
AG T P

A B

AG = RT [ (Mo + ANy, ) In{(nyug + AN, ) /(s +YAN, )}
+(=XAn, ) In{(=XAn, ) /(N + YAN, )| +(=An, ) In{(=An,, )/ (e —YAN,, )}
+ (Mg + XA IN{(Mago+ XANL ) (g = YANL )} ] -+++(1)

X = nZBO/nlAO Y= (nlAO - nzso)/nmo



T P A B
dG = 4y, ANy, + 14,,0N, 5 + 1150N G + 11,50N,

Hup = M a TRTINX, ptpp = 1% +RTINX
= p* s +RTINX, o = 1* 5 +RTIN X,
H*a = H¥ig = 0¥ o0 = 15 = 1%, X =Ma/(Ma+1,0)
Xon =Toa/(Ma+Mon) X =g /(Mg +My)  Xop =T /(Mg + N5
dG =(u*, +RTInx, )dn, +(u*,+RTInx,,)dn,,
+(p* +RTInxg )dng +( 1%, +RT In X, ) dn,g

dn,+dn,=0 dn,,+dn,; =0
dG =RT Inx,dn, + RT Inx,,dn,, + RT Inxzdn; + RT InXx,,dn,; RT
dG/RT =Inx,dn, +Inx,,dn,, +Inxgdn; +Inx,.dn,;
= In{n. /(Mo N ) a0y, /( + s ) A, +In{ng /(g + 155 ) g
+In{n,g /(g + N )} dng = Inndn, —In(n, +1,,)dny, +1nny,dn,, —In(ny, +1,,)dn,,
+Inngdng —In(ng +n,g )dng +Inn,dn,, —In(ng +n,; ) dn,g

g
& aA+bB cC+dD
—dn,/a=-dn,/b=dn./c=dn,/d=d&
A B Mao Mhao  Migo  Mago
Ny Moy dn, dny,

= AN /(Niao = Mg ) = = AN,/ (Mya0 = M)
sdn,, = {( Mya0 = Nago ) /(Mao = nlBO)} dn,,
A My = Ny + ANy,
Nop = Nypo +0N, dn, = =Ny Ay =Ny =Ny

anA = {(non - nzso )/( nle - nlBO)} dnlA



WYSUME {(non —Mygo )/( Mao — nlBO)}(nlA — ) Y LN
Nyp = {(non ~Mygo )/( Mipo — nlBO)} M+ (NaoNogo = MigoMo o )/( Mpo —Nigo)
M+ Moa = {(Mhrg + Mapo = Mo ~ Moo )/ (Mo = M) Mo
+(MroM0 = MigoMzao )/ (Miao = Nigo) A= (Nyp0 = Myeo )/ (Mao — Mieo)

B= (nlAOnZBO - nlBOnZAO )/( nle - nlBO) C= (nle + n2A0 - n130 - nzso )/( nle - nlBO)
anA = AdnlA n,=An,+B N+, = CnlA +B

dny, +dng =0 dn =—dn,,

Mg =Ngo+dng Ny, =n,,+dn;, dng = ng — N,
dn, = N —Nysg dnyg =—dn,, (Mg = Mg ) == (Nia = Niso)
c Mg ==y (Myp + Mgy ) D =0+ Mg Mg =-N,+D

dn,,+dn,; =0 dn,; =—-dn,, =—Adn,,
Ng =Ny, + 0N, M =N+ 0N, dn,g =n,p — Ny,
dn, =N, — Ny (Mg = Moge) = —A(N, —Nyo)
N N Myg = —AN, +(MiagNsp0 ~ MigoMoso )/ (Mo — Mieo)
E = (NuoMono ~ MeoMaeo)/(Mao —Miso ) Ny =—An, +E

Ng +Nyg =—An, + E—nlA+D:—(A+1)nlA+ E+D

Mg + Mg = =C + [ {Niag (Mo + M)~ Mugo (Mg + Moo )} /(Mhno —Migg) | =—Cyp + F
F = {Niao (Miro + Moo ) = Mo (Mugo + Moo )} /(Mhno = Mz )
dn,, dng dny dny, s Mg Mg My
dn,, = Adn,, dng =-dn,, dn,; =—Adn,, n,=An,+B
ng=-n,+b ngy=-An,+E n,+n,=Cn,+B ny;+n,=-Cn,+F
dG/RT dG/RT =Inn,dn, —In(n,+n,,)dn,
+Inn,,dn,, —In(n, +n,,)dn,, +Inngdng —In(ng +n, )dng +Inn,,dn,g
—In(ng +n,)dn, =Inn,dn,, —In(Cn,, + B)dn,, +In( An,, + B)( Adn,,)
=In(Cny, +B)(Adn,,) +In(-n, + D)(-dn,,) - In(-Cny, + F)(~dn,, )
+In(-An, + E)(-Adn,, ) - In(-Cn,, + F ) (-Adn,,)
=Inn,dn,, —In(Cn, + B)dn, +Aln( An,, + B)dn,, — Aln(Cn,, + B)dn,,
—In(-n, +D)dn,, +In(-Cn, + F)dn,, —Aln(-An,, + E)dn,, + Aln(-Cn,, + F )dn,,



I In(asc b= [ bja) e+ [ ]

Ma =My Mip = Npo + AN, T P
A B

AG=RT [(nmo +AnlA)|n(nlAO +AnlA)_nlAO|nnlAO
-(C ){(rllAO+Ar11A) (B/C)}In{(c)(nmo+An1A)+(B)}
C){nuo +(B/C)}In{(C) iy +(B)}

+

+

( |

(A){(Mua +Any, )+ (B/ A)fIn{( A) (g + Ay, ) +(B))

~(A) Mo+ (B/ A} In{(A) s +(B)}

~{ (Mo +An,) = (D)} In{~ (o + AN, ) +(D)} +{Mpo = (D)} IN{-n +(D)}
(C){(Muso + An,) = (F/C)}In{~(C) (o + Any, ) +(F)

~(C){nupo —(F/C)}In{~(C) o +(F)]

-(A)

(A

+

A){(Mpo + AN, )= (E/A)HIN{=(A) (N + AN, ) +(E)]
A){Nipo — E/A} { (A)n,,+(E )}J """ (2)
A=(Nyp— 280)/(nle Nigo ) B:(niAonzso_nlsonon)/(nle_nlBo)
C = (Niao + Moo~ Mo~ Moo/ (Mpo ~Mhigo) D =(Mipg +Nigo)
E = (MuaoMono — MhsoMoso)/(Mao = Miso)  F = {Mon (Mg + Moo )~ Mg (Mo + Moo ) /(s — i)

+

0InO
0In0=0



